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Please make sure that the printed pages in this
question paper are 16 in number and it contains

29 questions.
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Except answer-book, no extra sheet will be give
Wnite to the point and do not stnike the wnite
answer.
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Candidates must write thewr Roll Number on the
question paper
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Before answening the question, ensure that you
have been supplied the correct and mmplele
question paper, no claim in this regard, will be
entertained after examination.
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All questions are compulsory. .
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Marks of each questions are -
against it.
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Question Nos. 1 to 12 are ob tive typ
questions carrying 1 mark each. Candidate
have to wnite the correct answer in their
answer-book.
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Question Nos. 13 to 21 are very short
answer type questions of 2 marks each.
Answer these in about 30 words each.
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Question Nos. 22 to 26 are short answer

type questions of 3 marks each. Answer
these in about 40 words each.
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Question Nos. 27 to 29 are long answer type
questions of 8 marks each. Answer these i
about 70 words each.
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. Prefofes & 3 Rl oot @ e
i 7
(A) 56 T Fe(s) (B) 2.7 3% Alls)

(C) 0.16 3% 0,(g) (D) 1 39 Helg)

Which of the following will have largest numb

of atoms ?

(A) 56 gram Fe(s) (B) 2.7 gram AlS)

iIC)] 0.16 gram O,(g) D) 1 gram Helgl '
2. &0 sy q onfdee @ den ferh o B 2

(A) 21 B) 2I+1

(C) 21+ 2 D) 1+2

The number of orbitals in a sub-shell is &
1o : '

21 B) 2t+1
) 21+2 D) 1+2



" . correc ‘ & af
(A) 0.3 PPm (B) 0.2 PPm

(C) 3.0 PPm (D) 2 PPm

4. F=fafes 3 & a1 qgm o 7 B 2

(A) Ag’ (B) AICL

(C) BF, (D) ALCL,
Which of the following 1s not Lewis acid ?
(A) Ag (B) AlCI,

(C) BF, (D) ALClL

8. KMnO, # Mn # sitwiier den 7 8 ?

(A, +5 (B) +7
- +3 (D) +1



(A) sp B) sp?

(€) sp’ (D) dsp’

The type of hybridization of carbon in CH, is -:

(A) sp B) sp? 1
(C) sp’ (D) dsp* |
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(A) CH, (B) CH,CH,
CH,
- I .
(€) CH,-C-H (D) CH, - C-
' |
CH, CH,

of the following carbanion is



Which i1s aromatic out of these compounds ?
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9. Preifefaa &l A & da-m ah 7 B ? 3
CH,
(A) H,C-C-CH, ._,_
|
CH,
CH,

(B) HyC-CHyC-CH,
CH,



Which formula is not correct ?
CH,

(A) H_‘ci:- CH,
I
CH,

CH,
(B) H,C-CH,~C-CH,
CH,

(€) CH,-CH,~CH,~-CH,-CH,

C,H,
(D) H,C-CH,~C-C,H.
l
C,H,

10. Mg @] HNO, & sf%fkm #@ w1 g & ?
| ) NO (B) NO,

J
i



(B) N0
(D) No,
The treatment of pp with dil. HNO, produces ?

(A) NH,
(C) ~NO

(A) NH, B) N0

(€) NO (D) No, |
12. F=fefn 3§ & @9-m m-dahe dhda 70 82 1

(A) Na’ B O

€C) F (D) Mg'*

Which of the following is not 1soclectronic
species 7




3 Y e e B
An atom of an element contains 29

and 35 neutrons. Wnite the number of protons
and the clectronic configuration of the clement.

lg; JO°C 701 | bur @9 77 99 2 500 dm’ Soe ‘

o)[ ."- | an T I U':“;# 1 73 , -‘_: .": ¢ J’_‘.’ -
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What will be the minmmum pressure requinred 18

COMPpress oUU an at 1 bar 1w 200 dmj at
30°C :
16, S=wen gaa @ s ade sswE 2

Explain the physical significance of Vander

Waals parameters

W. TghA a% A sfviea 7@ ge ofada o B
H,Ots) + Fjg) - HFlg) + HOFlg)
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srgEnifee dedem, 329.4.90
Write bond line formulas for

Isopropyl alcohol, Heptan-4-one

197 Rl Frdfvs dfvs § ardw @1 s B0 ST W@
FaA TRAETE @ aeiitd &9 @
pggtange g & guar & far o & 2

Why is a solution of KOH used to absorb Cﬁ,;
evolved dunng the estimation ol carbon present

in an organic compound ?

ad. A 3 sitym & dv o A} ah B ? am R
$3 guwan 7 |

How do you account for the fomm ol |




reactions of the following hydrocarbons

(i) Hexyne () Toluene

m{ 100 I CuSO, & B sy o a7 aed B 7

How much copper can be obtained frol

100 gram of CuSO, ?

23. & o= 3 2 awenfael @1 g sgae dfed
Bt @ fos 7 o @ s B 7 o ane @)
CaE 3
Would you expect the lonization enthalpies for

two isotopes of the same clement to be same of

different ? Justify your answer,

sffFmst @ gt fm



(13)
Complete the following chemical

(@) PbSs) + 2 0lag) -
(b) Cﬂ()[gl + H,0(g) —»

(€} AlICL(g) + H,0() -

25. Aoy srdm aggert w4 frarar & 7 _3%
Why Be shows anomalous behaviour ? 1

26, ®dd F wUEdl & @t A o @ A g ? 3




(i) Pcrf,mﬂ#wmmﬂhwwﬂw
srn, Rgada e @ st s @ @ oA
e? 2%

Describe the hybridization in PCL. Why are

the axial bonds longer as compared to

cquatorial bonds ?
Gy T @ o amde # orIT gamn 2%

Write differences between g and n bonds.

giufrm H ddeh d o T Y2 W E




& 300 K W s aivfea & R e f

-

AG” & w9 a1 v ?

R=8314JK "'mol' T=300K.

The ecquilibrium constant for the reaction is
L |
Ay =eR

(i) @1" 1.0 5@ H,o) wme offafdt 3}
fir B, @3 ofidw ® dd ofgdw @
g :

10. What will be the value of AG” ?
R=8314JK "mol'T=300K.
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9. ﬂ/pumtiﬁﬂmmm!?
What do you know about pH-scale ?

(ii) mlk,,]%mmﬁmwmf?

2%
What do you mean by lonic product of

water (K ) ?
OR
QT

) 1=10"MHCI RT3 & pH @ T Fife 2%

Calculate the pH of a 1 x 10® M solution
of HCL F

(i) HF, HCl, HBr T HI %R ool @ &
amed ) geEen Ay

Compare the acidic strengths of halos



